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- i v ê> - Co" 10 - -1<5 

( - r i - > i V - (-^+5) - -2.3 / 

1 / 



(lo t i r ) - ( 3 + £-*ri 

s & 1 

-0 
'1 v 30 

/ i t i n ) - ( ? Z 2>) A i 

* o - A l X) 

^ - Li 
s - (V-jp; ( - ^ ^ 

o - Ls\'h~i)y 7 

-7- - ( s 4" S) i _ - AS 

j& --- <g \ % 
i t - - 7 ) = 

- ? 

-I3> - fc.otM<)» // 



~i -
V '— J 

(a +^) - -
- — V v - ^ 7 

M ) - cz-f i) - - 3 
r^f <0 — (?-/?) 

L 7 v" J ^ ^ — 7 
M - C f U - ' 

i « • ; j . 

. . . . r \ i r / \ * f f-

( A f -JiO-far/ -22)- - m . 
K. 1 ^ % ^ ^ • 

km~x)-(-?2-h -/<) _ic 
—f 

-S? — "Jto 

, ^ v ^ - ^ i a— \ ^ r • 1 *L ^ 

-4o - "-^ 

(-M+#)-(-//t-/r)= ~ 2 . -iv - ~u 
fa* '//J - (:/S+ -2f) = 7 

*" y X * * ^ J • 

{;//< -A} ~(/<r+ ~/7) - ^ 
(Ys^yh-(-/?-r-7) -6 . 
hsy/?)-(-l+2) - -27 
(-/}/-'?) -te+o) = - 7 4 

- 5 - - 7 

_ 

— 


